HS-2512W

Pos. S. |Part Number Description

101 001 (35554017003 12.1" PCAP Touch Panel Kit w/Front Bezel for HS-2X12, Black (Complies with Plastic Real Cover fixing Screw
P/N:10524030082/ 3)

101 002 (3555401700C 12.1" PCAP Touch Panel Kit w/Front Bezel for HS-2X12, White (Complies with Plastic Real Cover fixing Screw
P/N:10524030082/ 3)

101 003 (35554020003 12.1" PCAP Touch Panel Kit w/Front Bezel for HS-2X12, Black (Complies with Plastic Real Cover fixing Screw
P/N:10504030082/ 3 & LCD Metal Chassis P/N: 15530111020)

101 004 (3555402000C 12.1" PCAP Touch Panel Kit w/Front Bezel for HS-2X12, White (Complies with Plastic Real Cover fixing Screw
P/N:10504030082/ 3 & LCD Metal Chassis P/N: 15530111020)

101 005 (35554021003 12.1" PCAP Touch Panel Kit w/Front Bezel for HS-XX12, Black (Complies with LCD Metal Chassis P/N: 15530111030)

101 006 [3555402100C 12.1" PCAP Touch Panel Kit w/Front Bezel for HS-XX12, White (Complies with LCD Metal Chassis P/N: 15530111030)

102 001 |21863250054 Touch USB Cable, L=470mm

103 001 |35574005000 12" LCD Panel, w/ Packing (IVO Panel)

104 001 |21863055004 LVDS Cable for 12" LCD Panel, L=450 mm

105 001 |10661030083 Pan Head Screw M3-8L

106 001 |10183000080 Gasket 8*8*8 mm

107 001 (10524030062 Binding Head Self-Tapping Screw,$3-6L

108 001 (15530111020 LCD Metal Chassis for HS-2X12 LCD Metal Chassis for HS-2X12 (Complies with PCAP Touch Panel Kit w/Front Bezel P/N:
35554020003/C )

108 002 (15530111030 LCD Metal Chassis for HS-2X12 (Complies with PCAP Touch Panel Kit w/Front Bezel P/N: 35554021003/C )

109 001 15530321013 Plastic Rear Cover for HS-2X12, Black

109 002 ]1553032101C Plastic Rear Cover for HS-2X12, White

110 001 |16550103030 Hinge

111 001 (10684038062 Binding Head Screw #6/32-6L SW+W-Ni

112 001 |10684038122 Binding Head Screw #6/32-12L SW+W-Ni

113 001 (10524030083 Binding Head Self-Tapping Screw $3-8L-NiB

113 002 (10524030082 Binding Head Self-Tapping Screw$3-8L

113 003 |10504030083 Binding Head Screw M3-8L Ni-B

113 004 |10504030082 Binding Head Screw M3-8L

114 001 15530317013 Smart Card Cover for HS-2XXX, Black

114 002 ]1553031701C Smart Card Cover for HS-2XXX, White

115 001 |15530303013 Plastic MSR Cover for HS-2XXX, Black

115 002 |1553030301C Plastic MSR Cover for HS-2XXX, White

116 001 (13700315043 Dummy MSR Cover, Black

116 002 (35534008003 Single Head ISO MSR Module 3T Kit, w/o Ground Wire (Apollo Reader Head, w/ MSR Controller)

116 003 (38604004003 JIS2 MSR Module Kit, Black (Apollo Reader Head, w/ MSR Controller)

116 004 (39864021003 Magnetic Card Reader Encrypted Module for SA-305ID ( for PBM)

117 001 |35535001000 Smart Card Kit for HS-2XXX

118 001 (15530300013 58mm Paper Adaptor-Right for HS-2XXX, Black

118 002 [1553030001C 58mm Paper Adaptor-Right for HS-2XXX, White

119 001 (15530316013 58mm Paper Adaptor-Left for HS-2XXX, Black

119 002 [1553031601C 58mm Paper Adaptor-Left for HS-2XXX, White

120 001 |15530107013 Weight Block, Black

121 001 |15530601213 LED & Key Plate for HS-2XXX, Black

121 002 |1553060121C LED & Key Plate for HS-2XXX, White

122 001 |45531502101 LED & Key Board for HS

123 001 |21864062703 8 Pin FFC Cable for LED Board, L=250mm

124 001 (10524030102 Binding Head Self-Tapping Screw,$3-10L

125 001 (35536010003 Printer Paper Cover Assembly for HS-2XXX, Black

125 002 [3553601000C Printer Paper Cover Assembly for HS-2XXX, White

126 001 |10231000021 Mylar Sheet $6.5*0.25mm, Black

126 002 |10231000022 Mylar Sheet $6.5*0.25mm for HS-2XXX, White

127 001 (39785001000 3" Thermal Printer Mechanism w/Auto Cutter (CAPD347H-E)

128 001 |15530309013 Roller Holder for HS-2XXX/DS-2XX/3XX, Black

128 002 |1553030901C Roller Holder for HS-2XXX, White

129 001 (19340301023 Paper Roller, Black

129 002 (19340301020 Paper Roller, Ivory

130 001 (10121300016 Torsion Spring-left$5.3*23mm

131 001 |35536007000 Table Mount Bracket Kit for HS-2XXX/HS-XX10/HS-XX12/DS-2XX/3XX

132 001 |10708006102 Shoulder Head Screw #6-32-10L(Ni)

133 001 (10121300017 Torsion Spring-Right$5.3*23mm

134 001 (15530201010 Paper Cover Shaft for HS-2XXX

135 001 (35534015003 Paper Near End Sensor Kit for HS-2XXX, Black

135 002 [3553401500C Paper Near End Sensor Kit for HS-2XXX, White

136 001 (15530318013 Finger Printer Cover for HS, Black

136 002 [1553031801C Finger Printer Cover for HS, White

137 001 |35596012003 Main Plastic Front Cover for HS-25XX w/o RFID, Black

137 002 |3559601200C Main Plastic Front Cover for HS-25XX w/o RFID, White

138 001 |10661020082 Pan Head Screw M2-8L

139 001 |14300106010 Printer Ground Bracket for HS-2XXX/DS-2XX/DS-3XX

140 001 15530106020 Printer Fixed Bracket for HS-23XX

141 001 (45533604201 Printer Control Board for HS-21XX/23XX/25XX (English)




141 002 (45533604203 Printer Control Board for HS-21XX/23XX/25XX (Traditional Chinese)

141 003 (45533604204 Printer Control Board for HS-21XX/23XX/25XX (Japanese)

141 004 (45533614301 Printer Control Board for HS-23XX/25XX, w/ Firmware (Simplified Chinese)

142 001 21863261517 USB 1/O Cable for HS-2XXX Printer, L= 250mm

143 001 |35534009003 RF300 HID Mode Module Kit for HS-23XX, w/ 1K Mifare RFID Card, Black

143 002 |3553400900C RF300 HID Mode Module Kit for HS-23XX, w/ 1K Mifare RFID Card, White

143 003 |35534037003 RF300 VCI Mode Module Kit for HS-23XX, w/ 1K Mifare RFID Card, Black

143 004 |3553403700C RF300 VCI Mode Module Kit for HS-23XX, w/ 1K Mifare RFID Card, White

143 005 |35534035003 RF300 HID Mode Module Kit for HS-23XX, w/ 64byte RFID Tag, Black

143 006 |3553403500C RF300 HID Mode Module Kit for HS-23XX, w/ 64byte RFID Tag, White

143 007 35534036003 RF300 VCI Mode Module Kit for HS-23XX, w/ 64byte RFID Tag, Black

143 008 |3553403600C RF300 VCI Mode Module Kit for HS-23XX, w/ 64byte RFID Tag, White

144 001 15530104010 Main Metal Chassis for HS-2XXX

145 001 (35534010000 URU FingerPrint Upgrade Kit for HS-2XXX, w/ I/O cable

146 001 21863012512 USB+Signal Cable, L=220mm

147 001 (45590616101 Main Board for HS-25XXW, w/ Intel Bay Trail-D Celeron J1900, w/o I/O Plate, Ver. DO

147 002 (35594005000 Main Board for HS-25XXW, w/ Intel Bay Trail-D Celeron J1900, w/ I/O Plate, Ver. DO

148 001 |35596003000 Aluminum Main Board Chassis for HS-25XXW/3510W

149 001 |35596004003 Plastic Back Cover for HS-2XXXW/A, Black

149 002 |3559600400C Plastic Back Cover for HS-2XXXW/A, White

150 001 15530301013 Bottom Cable Cover for HS, Black

150 002 ]1553030101C Bottom Cable Cover for HS, White

151 001 (15530312123 Top Cable Cover for HS, Black

151 002 [1553031212C Top Cable Cover for HS, White

152 001 |10684038123 Binding Head Screw #6/32-12L SW+W-NiB

152 002 10684038122 Binding Head Screw #6/32-12L SW+W-Ni

153 001 (10121100022 Handle Release Spring

154 001 (15530307023 Power Button for HS, Black (Complies with Back Cover Kit: HS-20XX/21XX P/N: 35556006003, HS-23XX P/N:
35536008003 )

154 002 (1553030702C Power Button for HS, White (Complies with Back Cover Kit: HS-20XX/21XX P/N: 3555600600C. HS-23XX P/N:
3553600800C )

155 001 |10556027082 Hexagon Head Screw #4.8*8.2 mm

156 001 (15550101020 Inner Support Bracket for HS

158 001 15530101010 Hinge Bracket for HS-2XXX/3XXX

159 001 |35594006000 32G SSD Module Kit for HS-2510W

159 002 35594007000 8G SSD Module Kit for HS-2510W

159 003 45591604101 EMMC 8G Adaptor Board

159 004 145591614101 EMMC 16G Adaptor Board

159 005 45591624101 EMMC 32G Adaptor Board

160 001 |35654013000 2.5" SSD Upgrade Kit for HS-24XX/25XX/35XX/651X, w/o SSD

160 002 35654086000 2.5" HDD Upgrade Kit for HS-24XX/25XX/35XX/651X, w/o HDD, w/HDD Shielding

161 001 21863061221 Power Cable for XP-Printer-Il, L=340 mm

NONO1 |001 [35534021000 WIFI Module Kit for HS-2XXX/HC-1521 (Single Band)

NONO2 |001 (21863233801 RJ50 To DB9M Cable, L=150mm, Black

NONO3 [001 [CR*24V-L CR24V Adapter /Cable Kit

NONO4 |001 [35594008000 Power Adaptor 12V/100W (CEC6)

NONO4 |002 39004021000 Power Adaptor 12V/130W (CEC6)

NONO5 |001 |21868100510 Power Cord for Australia for Power Adaptor 80W/100W/130W/150W, L=1800mm, With IEC-C5 Connector

NONO5 |002 |21868200500 Power Cord for Europe for Power Adaptor 80W/100W/130W/150W, L=1800mm, 3 Wire, PHP-206 TO PHS-305

NONO5 |003 |21868300500 Power Cord for Japan for Power Adaptor 80W/100W/130W/150W, L=1800mm, IEC 320-C5

NONO5 |004 (21868400501 Power Cord for S.A for Power Adaptor 80W/100W/130W/150W, L=1800mm, IEC 320-C5

NONO5 |005 |21868500500 Power Cord for U.K for Power Adatpor 80W/100W/130W/150W, L= 1800mm, 3 Wire, IEC 320-C5

NONO5 |006 (21868600500 Power Cord for USA for Power Adaptor 80W/100W/130W/150W, L=1800mm, 3 Wire, IEC-320-C5

NONO5 |007 |39004013000 Power Cord for USA for Power Adaptor 80W/130W/150W, L=1800mm, 3 Wire, IEC-320-C5 for PBM

NONO5 |008 |21868800500 Power Cord for India for Power Adaptor 80W/100W/130W/150W, L=1800mm, IEC 320-C5

NONO5 |009 |21868900500 Power Cord for Argentina for Power Adaptor 80W/100W/130W/150W, 3 wire, L=1800mm, IEC320-C5

NONO6 |001 [15530514120 Carton for HS-2X12 Series

NONO7 |001 [15530531010 CardBoard for HS-2XXX

NONO8 |001 [15530542020 PE Foam for HS-2X12

NONO09 |001 [CPEBAG62*55 |PE Bag, 62*55cm,Thickness 0.05

NON10 |001 [15530544010 PE Sheet for HS Series

NON11 [001 [15590901030 User Manual for HS-2510W/2512W




